
A  
SLE main cohort → SLEGEN cohort 

B 
SLE main cohort → GENENTECH cohort 

  
 
C 

EUR population → CHN population 

 
D 

CHN population → EUR population 

  
 

ROCs: GRS in SLE Prediction
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AUCs: LD Clumping at r2=0.2 & 1000kb

GRS at Pth = 5e−8, AUC = 0.702 (0.678 − 0.727)

GRS at Pth = 1e−7, AUC = 0.7 (0.676 − 0.725)

GRS at Pth = 1e−6, AUC = 0.709 (0.684 − 0.733)

GRS at Pth = 1e−5, AUC = 0.715 (0.691 − 0.739)

GRS at Pth = 1e−4, AUC = 0.709 (0.685 − 0.733)

GRS at Pth = 1e−3, AUC = 0.69 (0.665 − 0.714)

GRS at Pth = 1e−2, AUC = 0.679 (0.654 − 0.704)

GRS at Pth = 1e−1, AUC = 0.649 (0.623 − 0.676)
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AUCs: LD Clumping at r2=0.2 & 1000kb

GRS at Pth = 5e−8, AUC = 0.663 (0.643 − 0.682)

GRS at Pth = 1e−7, AUC = 0.663 (0.643 − 0.682)

GRS at Pth = 1e−6, AUC = 0.669 (0.649 − 0.688)

GRS at Pth = 1e−5, AUC = 0.674 (0.655 − 0.693)

GRS at Pth = 1e−4, AUC = 0.663 (0.644 − 0.683)

GRS at Pth = 1e−3, AUC = 0.647 (0.628 − 0.667)

GRS at Pth = 1e−2, AUC = 0.624 (0.604 − 0.644)

GRS at Pth = 1e−1, AUC = 0.603 (0.583 − 0.623)
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AUCs: LD Clumping at r2=0.2 & 1000kb

GRS at Pth = 5e−8, AUC = 0.634 (0.618 − 0.651)

GRS at Pth = 1e−7, AUC = 0.634 (0.618 − 0.651)

GRS at Pth = 1e−6, AUC = 0.624 (0.608 − 0.64)

GRS at Pth = 1e−5, AUC = 0.639 (0.623 − 0.655)

GRS at Pth = 1e−4, AUC = 0.632 (0.616 − 0.648)

GRS at Pth = 1e−3, AUC = 0.609 (0.592 − 0.625)

GRS at Pth = 1e−2, AUC = 0.598 (0.581 − 0.614)

GRS at Pth = 1e−1, AUC = 0.596 (0.579 − 0.612)
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AUCs: LD Clumping at r2=0.2 & 1000kb

GRS at Pth = 5e−8, AUC = 0.639 (0.628 − 0.65)

GRS at Pth = 1e−7, AUC = 0.639 (0.628 − 0.65)

GRS at Pth = 1e−6, AUC = 0.64 (0.63 − 0.651)

GRS at Pth = 1e−5, AUC = 0.644 (0.633 − 0.654)

GRS at Pth = 1e−4, AUC = 0.622 (0.611 − 0.633)

GRS at Pth = 1e−3, AUC = 0.585 (0.574 − 0.596)

GRS at Pth = 1e−2, AUC = 0.56 (0.549 − 0.571)

GRS at Pth = 1e−1, AUC = 0.548 (0.537 − 0.559)


